20.

21.

22.

23.

24,

SECTION C — (3 x 10 = 30 marks)

Answer any THREE questions;
Find L[——-—-l ““"m].

Ll:*lr——%sﬁ] SHiTatrs,

45 +5 ]
(s-D2(s+2)]

_1[ 4s+5 J 2

LI ————— | snaws.
(s-1)%(s+2)

Expand flx) = x%+x in 0.27).

flx)=x% +xen 0,27) @ﬂmmm@.

Find L™ [

1injx|<1

Find the Fourier transforms of fx)={_" .
0 injx|>1

Hence deduce that I ( Bin x}d_x .

lzn|x|<1 . :
f() o"aG'urrrﬂu_n‘r o (HLOTHODL  SETENS.

DIFHEENS Gl&rram@ J'(Sm X

)dx au(medl.

Find z[cosng] and z[smnG]

2[cosn8] wpgmb 2[sinnb] snars.
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Time : Three hours

o

Maximum : 75 marks

SECTION A — (10 x 2 = 20 marks)
Answer any TEN questions.
Find L[],
Lle™t" |-eow sraims.
Find L[sin 2t + cos3t].
L[sin 2t + cos 3t] srers.

3.s+2‘,

u_ _J

L’l[&s * ] SN,
s -—

Find L [—1—] |
(s-3)°
L_l.[(s _,13)5 } ‘asrrafcras.

52 -8s+4
L s .

r g ¥ §
L? [S__:E’_’S_Li} SRS,

Find L™

Find L

s?

State the Parseval’s theorem.
Parseval’s Ggppseans erpg.



10.

11.

12.

13.

14.

Pick out the odd functions: x®,cosx,secx,xcosx.

@man,m srieeu Cairpos®hss Gr@gj
x8,cosx,secx,xcosx

Expand f(x)=1 in (0,7).
f(x) =1an (0,7) eQfleunses;.

State the convolution theorem for Fourier
transforms.

caLummwrr a@mrr,m,mgﬁsm convolutlon Casppseng

eT(Lpdl.
Find the Fourier transform of f(x)=e™*, x> 0.
f(x)=e¢7, x20 &Qurier e murhpsms sres.

Find z[n(n -1)].
z[n(n -1)] srems.

Find z[l] }
n

5] o
2 — | &HITeWTS.
n
SECTION B — (5 x 5 = 25 marks)
Answer any FIVE questions. ™
Find Le™®[2cos 5t — 3sin 5t].
Le™[2cos bt — 3sin 5t] srans.
Find L{(1 +te™)®].
L[(l +te™ )3] STeRTS.

2 72311/SM24A

15.

16.

17.

18.

19.

Find L—l[—_S_t?'_]

s?~4s+13 )

L_l{—z—s-’_B ] SIS,
s“—45+13
Fxpand f(x)=2x-x%in (0,2).

f(x) =2x —x*ar (0,2) eANeuns.

Find the Fourier transform of
e in0<x<l
x) = _
f) { 0 otherwise
[(x) < LR < 1 SGurflwr 2 pLrHob
0 otherwise '
& TG0 &
1
Find .
i ;z[ n(n + 1)J

[ I } e
n(n+1) :
Find'z[cos—r}f—] and z[sinn—”:f.
L 2 2
nzt| . . . nrw .
z[cos?] HHID z[sm.——z—} SIS,
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